49. The function fix) = 4 sin’ x — 6 sin® x + 12 sin x + 100 is strictly

(a) increasing in (z%{) ~ (b) decreasing in (-}.ﬁ)
(¢) decredsing in (—% %) (d) decreasing in (0%)

Sol. (b) We have, f{x) =4 sin’ x - 6 sin’x + 12 sin x + 100
3 f(x)-lZsinzx»cosx-lZsinx-cosx+lZcosx
=l2003x[sm2x sinx+ 1]
-IZwsxlm x + (1 —sin x)]
Now | -sinx20andsin“x20
ssinfx+[—sinx>0

Hence, /"(x) > 0, when cos x > 0 i.e.; x& (:21. %)

So, flx) is increasing when x € (--— —)

and f"(x) <0, whencosx<0ie,x€ (-‘- —x-)
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Hence, fix) is decreasing when x € (— —)

Hence, Aix) is decreasing in (%, x)



